PROBABILITY TREE
Pearson Edexcel – Monday 8 June 2020 - Paper 3 (Calculator) Higher Tier
1.
[image: Diagram

Description automatically generated]

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier
2.
[image: Diagram

Description automatically generated]

Pearson Edexcel - Thursday 7 June 2018 - Paper 2 (Calculator) Higher Tier
3.
[image: Diagram

Description automatically generated]

Pearson Edexcel - Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier
4.
[image: Diagram

Description automatically generated with medium confidence]

Pearson Edexcel - Wednesday 8 November 2017 - Paper 3 (Calculator) Higher Tier
5.
[image: Diagram

Description automatically generated]
Pearson Edexcel - Thursday 8 June 2017 - Paper 2 (Calculator) Higher Tier
6.
[image: Diagram

Description automatically generated with low confidence]


Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier
7.
[image: ]


Pearson Edexcel - Sample Paper 2 - (Calculator) Higher Tier
8.
[image: Diagram

Description automatically generated]

Pearson Edexcel - Thursday 26 May 2016 - Paper 1 (Non-Calculator) Higher Tier
9.
[image: Chart

Description automatically generated]


Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier
10.
[image: Diagram

Description automatically generated]


Pearson Edexcel - Monday 9 June 2014 - Paper 1 (Non-Calculator) Higher Tier
11.
[image: Diagram

Description automatically generated]


Pearson Edexcel - Monday 11 June 2012 - Paper 1 (Non-Calculator) Higher Tier
12.
[image: Chart

Description automatically generated with low confidence]




Pearson Edexcel - Friday 2 March 2012 - Paper 3 (Non-Calculator) Higher Tier
13.
[image: Diagram

Description automatically generated]


Pearson Edexcel - Wednesday 9 November 2011 - Paper 3 (Non-Calculator) Higher Tier
14.
[image: Diagram

Description automatically generated]



Pearson Edexcel - Thursday 5 November 2009 - Paper 3 (Non-Calculator) Higher Tier
15.
[image: Diagram

Description automatically generated]
OCR GSCE – Thursday 5 November 2020 – Paper 5 (Non-Calculator) Higher Tier
16.
[image: ]







OCR GSCE – Thursday 6 June 2019 – Paper 5 (Non-Calculator) Higher Tier
17.
[image: ]




OCR GSCE – Monday 12 November 2018 – Paper 6 (Calculator) Higher Tier
18.
[image: ]





OCR GSCE – Wednesday 8 November 2017 – Paper 6 (Calculator) Higher Tier
19.
[image: ]




OCR GSCE – Thursday 25 May 2017 – Paper 4 (Calculator) Higher Tier
20.
[image: ]





AQA GSCE – Tuesday 21 May 2019 – Paper 1 (Non - Calculator) Higher Tier
21.
[image: ]
[image: ]















AQA GSCE – Thursday 7 June 2018 – Paper 2 (Calculator) Higher Tier
22.
[image: ]
[image: ]

AQA GSCE – Wednesday 25 May 2017 – Paper 1 (Non - Calculator) Higher Tier
23.
[image: ]






AQA GSCE – Sample Paper 1 (Non - Calculator) Higher Tier
[bookmark: _GoBack]24.
[image: ]
image6.png
12 There are 30 sadents in Mr Lea's class
1601 h sudnts e by,

T students from the lass s chosn  rdom.
M e draws i probabilty e disgra o s nformation.

e Snd st
i oy
%
oy
1
> u
% -
. -
h %
%
-
h
% s

(8 Wt down ome hin ht s wrong with e probabiliis i th pobabily e dingram.

Owen sd Wasioplay o the schoo bl .

“Th probabily thst Owe wll core gl the et mstch i 04
The probabily that Wi will e 3 e n e e vt 3025

M S s,
“The probaily tht ot by will e gl i the et i i 04 + 025"

8 I M Statright?
G eson o your st

(Total for Question 12k 2 marks)




image7.png
11 Finlay plays two teanis matches.

“The proaliy that e will Wi mach and the probabilsy hat e will o mtch are
shown i e prokabily e disgum.

Firsmatch Second match
0
2
o 03
ose
o 0
o
o
e

{0 Work out the probabiliy thatFnly wins both maches

(6 Work out the probabiit tha Finlay loses at st one math.

for Question 11 is ¢ marks)





image8.png
12 Amd B are tvo sets of raffic ights on a road.
o pobabilicy s o s stopped by Behte A1 04

163 car s sopped by ihts A, thenthe probablsy ht the a5 mot sopped by
gk Bis07

172 car s motsopped b ights A, then th probabilcy it the ar s motsopped by
s Bis02

(@) Complee e provabity cee disgram fo s mtormaton.

(e g8,
swop
o
ot siop

-
aetson <
—n
»
[Pp—
e

) I mor ey hat e s spped by lghs A o b s B2
Vou mst show you working.

®
(ot for Question 125 § marks)




image9.png
21 The probabiliry that it will ran on 2 day in Tume is 02
When it ias e probabily at my teis mach i canceled s 07
When ¢ dos no run, i prbabity that my e match 5 ot cancelled s 095
(© Comples theprobaily e diagram for s mfomation.

e

-

e

-

) Work ot th probablsy a0  day i Fme i doss ot rain and my temnis match
s conceled.

(ot for Question 21 s § marks)




image10.png
19 Louise makes  spmmer.

“Thespmmercanand o green o on e
T probaily it e spcner il end o geen s 07

Louise spns e spimer vice.

© Complre e provabiy e diagram.
st spin Secondspin
0 -
e
o1 -
B
I B
[ B

CTutal fo Quesion 191 5 mark)




image11.png
23 ¥ronme has 10 rulip bulbs in 2 bag.

7 of e il tulbs vl grov o red .
3 of e mitp s il g o yelo s

“Fromme akes at random o i blbs om e bag.
She plas e s

© Complre e provabiy e diagram.
Letbus 2nabu

) Work ot the probabilty ht a s o of e s il o o 8 yelo ip.

(Total for Question 23 s § marks)




image12.png
19 Weady goes t0 4 fun fic.
She s one g0 3t Hoopla
She b one 55 0 he Coconut shy.

The probabilty tha she i t Hoopl is 0.4
Theprobabity tha she win o the Coconutshy i 03

(@ Complte the prolily e dngra.
Hoopla Coconutshy
ey
0 wins
Wendy
04 wins
Wendy docs
Wendy
. Weadydocs i
— Weady docs

) Work out the probabilty hat Wendy wins tHoopl and also wins 0 the
Coconut shy.

(Totalfor Questian 19 s 4 marks)





image13.png
18, Thesar ol rd marles a grsn marbles n 3 bug.
Thes s o bl ad 3 grosn bl

Daye ok t randons bl rom s b
e does no pat he bl bck i the b

Dy okt rndom  scond masble from th b

@ Complete the proabily e dingram.

T e
B Red
7
s Ret
3
- Gren
Ret
Groen
N Gren
@
(5 Woskout h robsbilsy st vy takes masbles o ifred colos.
e

Clotal § marks)





image14.png
22. Jan has two boxes.
There ae  black and 4 whit souaters i box A
Ther ae 7 black and 3 whit sounters inbox B.

3otk t radom  counterfom b A and puts i b B.
She then take t random counter from box B and put  n box A.

(@) Complee the probabily e diagram.
FomAwB FomBloA

Bk

white

o

(9 Findthe probabilt that e Jan has put h counterfom b B it b A therewill
il b 6 blck counersand 4 whit couness n b A.

(Total 6 marks)





image15.png
19, Emma s 7pens mabo.-
5 of e ens s bl
2ottt penswerd

e
‘Emma s e pen ack e .

Then s ot andom  second pen o te o, and e dovn i colows.
® Complr e prvabiliy e digram.

Fistpen Second pen

@
(o) Wosk out th probabity that s ks xactly cne pofesch colos o the
box





image16.png
8 Aweather forecast says

«the probabilty that it wi
and
« " the probabilty that it will ain on Tuesday is 0.25.

on Monday is 0.55

Ella draws a tree diagram to show this information.

Monday Tuesday
rains
075
rains
055
028 does not rain
038 does not

Write down three errors that Ella has made with her tree diagram.





image17.png
6 Abag contains 4 red counters and 3 blue counters only.
Jack picks a counter a random and then replaces it
Jack then picks a second counter atrandorm.

(8) Complete he tree diagram.

First pick

[

pick.

H

H

e

Blue

{b) Work ot the probabily that Jack picks two red counters.

B)




image18.png
7 The probabiity that any postcard posied in Portugal on Monday is defivered to the UK within &
week s 062

e probabity that any postcard posted in Portugalon Friday s defiversd o the UK within a week.
w04

(@) Anna s on noiday in Portugal.
‘S posts 15 postcards 1o 1o UK on Monday.

How many of he postcards can she expect 0 bs dlvered wilin 3 woek?

®) Sergo s n Portugal
Ho posts one posicard o the UK on Monday.
Ha post ancther postcard f the UK on Frday.

() Complete the probabity rsato show the possibe cutzomes for the postcards.

Monday's Fridays
postcard postcard

Delvered
witin'a week

Notcelvered
wittin 2 week

Delvered
witin'a week

Notcelvered
witina week

Notcelvered
wittin 2 week

(@) Calculte the probbiy thatonly one of Sargi'spostcard s davered within  week.

@





image19.png
11 Reuben is playing a matching game with these cards.

o]

He turns the cards over and shuffies them.
Reuben takes a card and keeps it He then takes a second card.
Ifthe cards are different, he wins the game.

(a) Complete this tree diagram to show the probabiltes for each card picked in the game.

First card Second card
Circle

4 Circle

g

. Square
Circle

— Square
Square

(b) Whatis the probabilty that Reuben wins the game?

(®)

©




image20.png
13 Rashid drives his ca skong 2 road passing through two setsof rafic ights.
The treo diagram shows the prababiie of thelghs bang rod whe hereaches them.

Frstset Second et

08 Fed
o7 s
-
o <
02 e
[RpS——— "
[ ———

@

(6) Work out e probabidy thatat east one set s not red.





image21.png
6 (a)

‘Anna plays a game with an ordinary, fair dice.

If she rolls 1 she wins.
If she rolls 2 or 3 she loses.
If she rolls 4,5 or 6 she rols again.

When she has to roll again,
if she rolls an odd number she wins.
if she rolls an even number she loses.

Complete the tree diagram with the four missing probabiltes.

First roll Second roll

2013

45016

odd

Even

(2 marks)




image22.png
6 (b

Is Anna more likely to win or to lose?
‘You must work out the probabilty that she wins.

4 marks]





image23.png
1" Two ordinary fair dice are rolled.

11 (a)  Complete the tree diagram.

1staice 2nddice
1 Lessthan
3
1 Less than3
3 3ormore
Less thana
™ sormore <
30rmone

11 (b)  Work out the probabilty that both dice land on a number less than 3

[1 mark]

[1 mark]





image24.png
11 () Work out the probabilty that exactly one of the dice lands on a number less than 3
(2 marks]





image25.png
16 A fair spinner has five equal sections numbered 1, 2,3, 4and 5
Afair six-sided dice has fie red faces and one green face.
‘The spinner s spun.
Ifthe spinner shows an even number, the dice is thrown.

16 (a)  Complete the tree diagram for the spinner and the dice.

[2marks)

‘Spinner Dice.

Even

odd

16 (b)  Work out the probabilty of gting an even number and the colour green.
[2marks)





image26.png
2 @

On Friday, Greg takes partin a ong jump compeiion.
He has to jump atleast 7.5 metres to qualfy for the fnal on Saturday.

« Hehas up to three jumps to qualfy.
« Ithe jumps at least 7.5 metres he does not jump again on Frday.

Each time Greg jumps, the probablty he jumps at least 7.5 metres is 0.8
‘Assume each jump s independent.

Complete the tree diagram.

Firstjump. ‘Second jump Third jump.

al
0p QU

‘Work out the probabilty that he does not need the third jump to quaify.

12 marks]

12 marks]





image1.png
A

Spimmers  SpimmerB

® Complee he probabitsy wee dingram.

Spimner & Spinner B
.
e
doss mot sz
.
Pre——
doss mot sz

() Workout e probabilisy s Spimner A lands on 2 24 Spiaer 3 doesnot and cn 2

(Total for Question 5 & 4 marks)




image2.png
10 Mary travels to work by rain cvery day.
“The probabiliythat ber i il be Bt on anyday s 015

(@) Complet the probabilty s disgram fo Thursdsy and Fridy.

Thursday Friday

e

e

015

ootte
e

ot e
sotte

(6) Wk outthe pobabilty that e trsin will b Lt on a st one of these two diys.

(Total for Question 10 is § marks)




image3.png
15 A dans team i going o play 3 match on Saturday and on Sunday.
“The proaily St he tam il i an Sty s 0.45

Ifthey winon Saurdy, the probaily st they will wi on Sundy i 067
ey do ot win on Sauday the pcbabisy hat thy wil win on Sunday is 035

(@) Complte the prokaily e disgram.
Saturday Sunday
oas

(5 Find the probabilsy that et wil win exacly one of e o mtches.

(Total for Question 15 i S marks)





image4.png
4 When bissed 6-sided dic s thrown ance,the probabily that it will and on 4 is 065
“The bised dice s thrown wice.

A drs i pobability e dingram.
The diagam is not comect.
fest hrow second throw
lndons
035
lndons
oss
oss
oot landon 4
lndons
o6
=
oot landon 4
035
oot landon 4

Wi down two things that are wrong wihthe pbability e dingram.

CTutat for Queston 41 2 marks)




image5.png
12 Alan has two spinners, spinner A and spinaer B.
Each spinne can T on oy 104 o i

“The proalilythat spianer A will and o ed 5025
“The proailytat sinner 1 will 4 an e 0.6

The prolily e diagram shows s information.

Splaner A Spinner B
w
s
wwt
025
o white
w
s
05
whie
o

Al sins sione A once snd e spins spinnr B oce.
Hedocs i  oumber o times.

“The umber of s bothspionces lad on ed i 24
Work out an st o the number of s both spinners land on whie.

(Total for Question 12 s 3 marks)




